1 e Preffaa # i frm g dEs
' zr fora T 39T R 7
(A) TSR TETG
(B) gia fHurdt
(C) WTEATe Igad
(D) uxft Y
“Godan” is the novel written by whi
: ich of
the following famous author ? d °
(A) Jaishankar Prasad
(B) Suryakant Tripathi
(C) Makhanlal Chaturvedi
(D) Munshi Premchand

% ﬁmﬁ#&aﬁﬁaﬁ'—rmmmaﬁa

%\‘ .

T R & 7 _
(A) YRaT (B) T I
© wfemor (D) A

Which of the following is the highest
civilian award of India 7
(A) Bharat Ratna
(B) Padma Bhushan
(C) Padma Vibhushan
(D) Padma ‘Shri

ﬁﬂﬁrﬁiﬁﬁﬁfmﬁ?aﬁwﬁ

wgfagm feea” %wﬁmm% ?
(A 15 AT (B) 26 =l

(C) 267a (D) 30 feEee
Which of the following days is
celebrated  as “Constitution ~ Day

in India 7
26™ January
30" December

-(Samvidhan Divas)”
(A) 15™ August (B)
(C) 26" November (D)

s Tt 3 & feed ﬁﬁr‘{ﬂwfﬁg Ll

S
(4 <& @) T
(C) T (D) Tl !

Which of the following contains “Lactic
_tucAtd" ?

B i ) g“fd (B) Vinegar
__;_Dih (D) Tamarind

5.

S
BT ¥, e b

SR T O

T A e 4 4 frw T B
-W?i.ﬂ?q}sn%? "'!I‘ﬂ:
(A) IWEE (B) wEwE E:f

(€ femaww (py T

“Gl'ldi Padva” is a spring-time festival of
which of the following States ?

(A) Uttarakhand

(B) Maharashtra
(C) Himachal Pradesh

(D) Gujarat

B R
ﬁqﬁaﬁaﬁﬁé%amm%?

(A) SraTe 37 IrEd Hret 1w

(B) AT HATTA
(C) T ST FACH

(D) ﬂﬁw

The responsibility ©

decadal census rests On

following ministries ?

(A) Ministry of Housing and Urban
Affairs

(B) Ministry of Planning

(C) Ministry of Information
Broadcasting

f conducting the
which of the

and

(D) Ministry of Home Affairs

UfE AR ST F TS
frfere o & el fR@  ?

(A) TR B) I

@ Tfeh (D) W

The headquarters of the National Human
Rights Commission is situated at which
of the following ?

(A) Bengaluu (B) Mumbai

(C) NewDelhi (D) Mysuu

W‘nﬂsﬂﬁﬁmﬁaﬁmﬁ%ﬁﬂ

| RETTE T TR 7

What is the helpling number to register 8
complaint for Cyber Crime ?

(A 1910
. (B) 1920
P o Ly A AP TT A AN U

P Pofce Constable 2024 2nd St Question P -

——

Scanned with CamScanner



9., Iy
(B) e S, Heed g1 frefofaa # & ey g swanfa fopa
(g) , =, T T P
gn)laﬁ?,ﬂ?m, (A) et 7w
e tagli C
Police ? agline of Uttar Pradesh (B) ., Trare |ty
(A) Satyameyv Jayate (©) aﬂﬁﬂﬁﬁ
(B) Suraksha Aapki, Sankalp Hamara (D) ¥t wfif
(C) .Seva, Veerta, Bandhuta The idea of a nationwide GST in India
(D) Seva, Suraksha, Shanti fV‘VE]I!S first proposed by which of the
10.  3TRhve Jeor Rgm SEEYT GEIH IHES allowing ?
9 % Aefifaa 1 @ AaifREE 7 (A) The Kelkar.Task Force
(A) 3TcHIE (B) =T (B) C.Rangarajan Committee
(©) b (D) <qeft (C) . Basel Committee
Aryabhatta  Research Institute  of (D) Reekhi Comminee
Observational Sciences is located in |14. I =T Prffaa # A S @1 TSt rt|
which ' of the following districts of w%ma@mm?ﬁm% ?
Uttarakhand state 7 ) (A) B B o
(A) Almora (B) Champawat (B)
~ (O) Nainital (D) Chamoli (C€) Y @) TeE
i Which of the following neighbouring
11. (G:;) R;qu?a;:q{:;% ?, countries of India does not share land
, boundaries with India ?
®) e it (A) Myanmar  (B) Nepal
(C) ﬁgaa;ﬁ ‘ (C) Bhutan (D) Maldives
(D) TR HAIE TH 15, I it & Prefaiad § & fe S
What is the full form of G20 ? HUEYHIE 7
(#) Group of Twenty ordele
(B) Gathering of Twenty. (A) ®) =
(C) Grand Twenty © W' (D) ST
(D) Glory of Twenty ;T;‘;’ky‘,’“ is the f:apit?;of which of the
. s ollowing countries of Asia ?
12, w1 W S o SRE | (o) Thailnd  (8) China
3 fopg T < EERT gRT E TR 7 (©y Japan (D) Bali
(a) fm@weE (B) ST 16. Tgw T fE # R we Shem
© T (D) e fraffea & & fvw 7t g Riffa R
India’s largest inter—departmental T YT ?
convetgence program “Operation Kayakalp” (A) ®S®A B) FENE
was launched by the Go"f"mmcnf of (C) it ED)) I
which of the following states The Grand :
(A) Himachal Pradesh States E:; f‘:nyp n located in the Uniteq
(B) Uttar Pradesh hich of erica was carved out b
(C) Gujarat gth of the following rivers ? 4
(D) Maharashtra (C; 2“;180“_ (B) Colorado
gwjm;mvm"w‘ A RN AL ST AN M?Ntllgl cEl i\ ([?) Yukol'l
3 WLATEYA CONP SUA TV N
DH-1
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by Preerfira @ fet frer & 7

| (B) I WERTT
() fawEmmR (D) FT < @St
The Narmada falls in which of the
following ?

(A) The Arabian Sea

(B) The Pacific Ocean

(C) The Indian Ocean _

(D) The Bay of Bengal - :

7 it 35 T A S S FI F
o 1 31 T e 3 fordte w9 A
7o A A E | e

(A) S (B) W@l

(C) =9l (D)

Nare the songs which celebrate the
divine love of Radha and Krishna and
especially popular in Braj. _

(A) Khayal (B) Charkula
(C) Kajri (P Rasiya
. gE uAeE ¥ ffafea ® & fhasht Scred
%@ e Al S gfaw & fag -
=T (Paat-Mitro) ReAFTA A= I 8 ?
(A) R (w=w) (B) FWE -
(€) ww S D) .FA:

Ministry of Textiles has launched
“Paat-Mitro” application to . facilitate
farmers producing which of the following ?

(A) Jute (B) Cotton_ -

(C) Silk (D) Wool
gy Frefofea § @ e ose 6t a=@
ARINT Her el & 7 _

(A) fEm (B) ufesm s
) fufem (D) aAfsm

“Thangka” is the most popular art form
of which of the following states ?

(A) Bihar (B) A West Bengal
(©) Sikkim @~ Odisha

13
-1

R SIS O Tl NS ALY W OO IO T = i I ] ~
BT BT O Vil U P . L] Lo A o] n S Ratay
TFV A PO PN, Lot TV TRRATE VA AN P A T Y TR,
S (atay

frafafaa # & fraa afeam & v g8

F Rl (ST0) =Y Tewmsa foma o aft A
¥ I ot 7

(A) *ft e s

(B). it 3 fegml Araw TawTen

(C) *hdeI@T

(D) s T

Who among the following had designed
the borders of every page of the
Constitution and adorned 1t with art

ieces 7
A) Shri Nand Lal Bose _
B} Shri Prem Behari Narain Raizada

C) Shri Sayed Haider Raza
D) Shri Jamini Roy

3, fova % Pyerfofea § @ few 3w
BT &l i

(A) wH (B) b
- D iﬁ&lﬁ(ﬁg
&) E"ﬂﬁ the statue( 0% Tamil poet and

Recently, _
philosopher ~ Thiruvalluvar ‘has been
unveiled at which of the following
countries of the world ? '

(A) France (B) Brazil

(C) Hungary (D) Switzerland
2016 % faghetor & gwa frefafaa 4 9

I M 3 Y o ?

(D) =t uer.. TSt
Who among the following was the Prime
Minister of India at the time of

-Demonetisation of 2016 ?

: Shri Narendra Modi

(B)" Shri Manmohan Singh

(C) Shri Atal Bihari Vajpayee |
(D) Shri L.K. Advani

TEE T, T ST % iR ¥ |
bk A E

(A) T (B) HEETA
(€) =< fadfa (D) wharw
Prabhavati Gupta was the daughter of
which of the following rulers of the
Gupta Empire ?

(A) Kumargupta

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta
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25.

26.

Fd Y2 events of Indian

teﬁaﬁaa@ﬂﬁraﬁﬁﬁﬁéaaﬂrm
aﬁaﬁ,ﬁmﬁ#@aﬁﬁwm%?
(A) SIeshTeS ST -
(B) F13hirs areiemae

() WS eI

(D) fafa sreferae

An economy in which there is both the
r and the Government, 1s

gll:\avtlf aieérthoich of the following ?

(A) Outcrossed Economy

(B) Hybrid Economy

(C) Merged Economy

(D) Mixed Economy

st T S fyefefaa 4 |
f5T e & S WS ST A 39T T
3 T S AT T i 3ot “ATSeEs”
sramaf@a? |
(A) ifeTieTen SF1 THER

(B) wm@n WG T W@ g W

T

(©) s e

(D) HMTIEI AEEGH
Rabindranath Tagore had renounced his
“Knighthood” and expressed his pain:
and anger after which of the following
National Movement ?

\04:#  The Jallianwala Bagh Massacre -

27.

A baton charge of police on Lala

(B)
Lajpat Rai

_ (C) Partition of Bengal

(D) Komagata Maru Incident

it e Feferi 1 & e W 8 7
(A) THUTH IATCH j s

(B) 3 3T

(C) We=-9TeH S

(D) WW : 3

“Blue Revolution” is related to which of
the following ? '
(A) Cotton Production

(B) Dairy Production
(C) Fisheries Production

300

31.

( Water Pollution

PN PIILN CV & PN PRGN TI VK N
K S PP TR T Py e OE 4 TV
T BT POt P s
VEH TSV oD PIOT N T VA0 BT AT

29.

(©

(C) 39T (UMAN
G)
D 3
&nzich":rﬁ?ﬁ ¥4 (PMO India)

il e following application aims at
rog'd? Empowerment” of citizen’s b
gocﬂlm gllﬁ access to authentic digita);
sty s to citizens digital document

(A) Voter Helpli igi
pline (B~ DigiLocker
(€) UMANG (D) PMOIndia
gg & H, I yew & Fferfea 3§ @ fre
4 yyy i-arfee A wga #
JeuTed R ma @ 7
(A) #gu

€y - (D) *'q%{
Recently, first all-girls Sainik School has

been inaugurated at  which of the
following district in Uttar Pradesh ?

EA) Mathura - gB% Lucknow

C) Agra (D) Kanpur
Wﬁﬁ_ﬁﬂéﬁﬁRuPayﬁZﬁ*W
T 1 TRl HIARE $hiee IS el a1 & 7

(B) W@TH

©(A) - TEERTEETTS

R
(B) . T R ¥ (THATS)
FH§F

(D) FEHEIF :
Which of the following banks has
launiched India’s first Corporate Credit

Card on RuPay network ?

_(A). ICICI Bank

State Bank of India (SBI)
(C) Canara Bank
(D) Induslnd Bank
fyeferfaa H & ®H TR
e 9 ?
(A) FAS Ee

(B e Fard|
(B) azr;;ﬁmﬁ

(€

(D) TG A .
Who among the following was the

founder of Tata Steel Limited ?

(A) Sir Nowroji Tata

(B) Sir Jamsetji Nusserw:

(C) Sir Dorabji Tata

(D) SirNaval Tata -
DH-1

anji Tata

e R
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32,

33.

34.

3S.

-~ (B)

SR N T WL 2006 * IER
T TR @ Ry 3 P e
(90 W a1 iR AR MMfiret 7t
®) T wuft 7

(A) T B) ¥

(OB (D) =m .
The State government shall appoint how
many “Collector” (n

ot including assistant
or additiona] collectors

) as per The Uttar
Pradesh Revenue Code, 2006 7

after the Independence of India ?

(A) Shri Gobing Ballabh Pant
Shri Kalyan Singh

(©) Shri Yogi Adityanath

(D) ShriND. Tiwari

RIS S 4 d g
T /Hefe Ry ¥ TET -
efereran forerera oy (BHS) 2 ?

(A) AIRT B) werg :
(C) 3mwEs (D) v it i
‘Yaya Tso’ is the first Biodiversity
Heritage Site (BHS) situated in which of
the following States/UTs of India ?

(A) Himachal Pradesh -

Ladakh

(C) Uttarakhand

(D) Jammu & Kashmir

PN PPN TV m'wmwnmrmw Fo OO BT T YA PN PO NP OO POTTHTIVR

)

37.

38.

© fmghm  (p) forer anfirg
Which  of the following
comprehensive and visionary in;
that aims to ¢mpower women for
security and self:
Uttar Pradegh ?
(A) Mission Shakti
(B) Mission Vanita
(C) Mission Sunita
Mission Vamini

is 4
tiative
safety
reliance in the State of

mﬁaﬁmzﬂmﬁn%ﬁgaﬁ%ﬁm
TR H M T i g

(A) IS (B) fyar

C) 3Iwrge (D) zfEmn
The state border of Uttar Pradesh does
Dot touch to the b

order of which of the
following states 9
%4 Telangana

(B) Bihar
(©) Uttarakhang

D) Haryana‘\
Wﬁm'ﬁmﬁ%mﬁ%ﬁ

ﬁq%f@aﬁﬁﬁqﬁa’i@mﬁ%m%?
(&) 3ferpter s

(B)  aememe st EE |
(©) it sy i
Peak in southern India is

(D) et sfgren

The highest

Anamudi that ig Situated in which of the
following mountajn ranges ?

(A) Velikonda Range

(B) Balaghat Range

(C) Nilgiri Range

(D) Vindhya Range

PEN PRI N TV B BT Ty

. i O
TN PN TI Y R AN DI GOF R 1N BT T
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68.

69.

70.

71.

72.

13;

74.

75.

76.

(D) 9T 1 3= @

vt S ot foRd a9
Ay fasa) 78.

() g

- (©) R -fEw (D) few -

TR % SR W = ) qhoam w7
(A)  Foreft &1 gy

(B) To1 1m0 vy ey

(O T 3 Wiom e

77.

(B) SRS $HY

(C) ufw=H

B MMIFTE IR =

T Pt 3 @ R e
(A) EfeFeR YT (B) wRaiy

(D) Afrefewor e

e i Rt 4 e 2
(A) wEediamt  (B) e

© TWEE (D) G
%ﬁtwhw%mgﬁ%?
(A) foerdd (B) sfyg
(€) wepa (D) 37wy

‘%ﬁﬁ%wwél’wwﬁﬁm
Torar-feriyur & 7 |
(A) rerarEs R

BE AT R 7
(A) wma

(€) wgm D) %=

: 2
afm freeds - R g |°

aﬂfﬁwﬁﬁﬁﬁﬁaﬂ:m%?
(A) fm@-anfit B) wfe - fam

‘Tl F e Sy ¥ fre Arefifad

o & ) e T & 7
(4) wm (B). 5y
(C) waF (D) s

79.

80,

81.

138 as the; LCM,
WE can deﬁnitely say that .

110 such pair exists,
only one sych pair exists,
(C only two such pairs exist,
many such pairs exjst.

AT 112 953, 3/4 % A 1 g
“—Trrﬁﬁﬁm&a%mﬁm,a‘rmm%:

If ¥ 851 be divided into three parts,
proportional to 1/2 : /3 . 3/4, then the
first gart is:

(A) 29 (B) 222 (C) 333 (D) 306

T Tiq § %m%w-wf/‘,ﬁrﬁﬁ%@r
TS S T R i R 950, 3
A BT fear | ot i vzt 205 v
TS | i 3 e T A A A 1 ey
waAR :
10% of people died due to cholera in a
village and due to that 25% of remainin
people left the village. The population is
then reduced to 2025. Fn:}cll mgﬁl number of
le originally living in the vi age.
p.ﬁgp 1500 B) 2000
fC) 2500 D) 3000

ol Y \"l"“\t.\"hrq.'.\\sh‘\".\.-..,.
PETNTS Ve 2o AT NI Fal 0 W [ LT ) O PP TR SO A LN T &
LR S " AT o0
v VWA O PN T ¥ ‘
¥ W T TN
T S AN RTINS
S WV F0h T '

9

DH-1
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102.

103.

104,

108.

106.

o PPRILN T PE Pt WL T Vi FON POVLN T PR SN PO TV B P AT T P
T PO TP PN
RO PIRTLN (T TR TS

DH-1

. TR 1B A < TS AR e 3 P

TIFI T 5 9 T S TR R 2
Which one set of letters  when
sequentially placed at the gaps in the
given letter series shall complete it
CB_CA_BACB_CA BAC D
(A) "ADDBBB ~ (B) ADDDDB
(C) BDDDDB. (D) BBBDDD
few T fosredt & @ w7 wdt fyeey T St
g@?ll ﬁ‘{}'{ﬁ"ﬂ :
hoose the correct alternative from given
ones that will complete the series ;
12, 23, 34, 45, 56, ™M
(A) 67 (B)69 (C) 71 (D) 78
P O o AT ¢)) _
(A) =h (B) el
©) 3 (D)
Melt : Liquid :: Freeze : (7)
(A Iee (B) Oxygen
(C)  Solid (D) Pressure
DBMS : SMBD : - JAVA : (9)
EA) AVIJA gB) JAAV
C) AVAJ D) AAV]
ﬁna@%ﬁmﬁaﬁ‘%?

How many squares are there in the |

following figure ?

(A) 12 ®)13 (14 (D) 16

T SR o ¥ & H@1 R 3R 10 Rt

R T 3R et 8, e o g 2 sin

7 feruft et 2, R 2t e @ ik 14 |

fepelt =reman 2, Rt st gear @ aiv 4 fefy
Teren 8 3R 37d # and qeen & 3R 4 e
A R | 5 S S o e g w
27

11 feredi
17 fenudt

A) 10fFR . @B
(C) 14Tt (D)

A person starts from home and moves

ds west by 10 km, then turns right
ztl(;l‘ga:;oves by 7 km, again turns right and
moves by 14 km, then turns left and

moves by 4 km and at last turns left and |.

moves by 4 km., ng far the person is
from home position

(A) 10km (B) 11km

(C) 14km (D) 17km

TS ST 2 | N
1. 981 | 78 =femat SAhrmi
FfEgR &
IV. & | 368 Ireshar s |
(A) 13RI aa@ & |
(B) heret 11 3R Il el # |
(C) ~haet 11 Are 2 | ’
(D) e IV Aie 2 |
Question given below consists of 5

statement, followed by four arguments
numbered I, II, III and 1V. You have to

“decide which of the argument(s) is/are

‘strong’ argument(s) and which 1s/are
‘weak® argument(s) and accordingly
choose your answer from the alternatives
given below the question :
Statement Should people with
educational qualification higher
" than the optimum requirements be
debarred from seeking jobs ?
Arguments ; '

L. No. It will further aggravate the
 problem of educated unemployment.
Il Yes. It creates complexes among
employees and affects the work
adversely.
I No. This goes against the basic
rights of the individuals,
IV. Yes. This  will

increase
productivity.

e

TEN PERTEN TR P 20h e b T PANESOGIH TP 0 POTEN Ty e

| (A) OnlyIandII are strong.

(B) Only II and IIT are strong.
(C) OnlyIlis strong,
(D) Only1vis strong,

L

——————— R —
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Foa & oarifea 8/2 |
Jqrat et 2 | A #
gromd ; 1.

el 1A I3 !
(D) AT 13 S I Ea 2 |

In the question below 2 statement
followed by two assumptions numbered 1
and II is given. You have to consider the
statement and the following assumptions

and decide which of the assumption/s

is/are implicit in the statement.
Statement : “If you trouble me, I will slap
you.” - A mother warns her child.

(
(€)

Bl ST B, T 3Hb gfER
6 q&?ﬁ%' ' i

FUET fomT 97 &
mmmwﬁwﬁﬁég
STt 2 SR T Iwtiet fem wmg fr w2 |
7. Tﬂ%ﬁaﬁﬁaﬁ%mﬁﬁ,a&mh
‘f@m@mv_ﬁé,a}mm%
%,mﬁ@ﬁmmﬁ%%ﬁ
IR AT A S aY Sig fRA T 2 |

GE

3ik /a1 PF & ferq am g 1 74 | <

Q. Nos. 109 to 113 : Directions : Read the
following information carefully and answer the
questions : : '

A company has following Gratuity (G) and

Provident Fund (PF) rules: _
1. An employee must have completed one

year’s service to be eligible for either G

or PF.
An employee resigning or terminated or

Assumptions :
I, With the warning, the child may |2- L €
stop troubling her. retiring after ten years’ service gets both
[ All children are basically naughty. | . G and PF. ,
(A) Only assumption I is implicit. 3. An employee terminated or retiring after
(B) Only assumption II is implicit. five years but before 10 years’ service
y
(C) EitherIorIlis implicit. gets both G and PF, but that resigning
(D) Neither I nor II is implicit. during this period gets either G or PF.
5. 9. 109 & 113 : i : Feferfea skt F |4 An employee terminated or retiring
> I ELCED 73 31T T o IH 3 before 5 years’ service gets PF but not G;
% B Aeffea =18 (G) 3 ufrs but that resigning during this period gets
fiftr (PF) el Fram & neither G nor PF. '
{ foeh sl 1 G A1 PF % o1 9 8 ?o-weyer’ . ;
fory e Y Bl 1 ft B a1 . in case an employee dies after 2 years
5 g i 1 491 F G TG o T service, his family gets both G and PF.
O e S | without pes capluyos, wes W
e without pay, suc i 1
g a1 T T G 37K PF & e © | from his Iioi;l years g?'.r;?rivi::sc gggug:g
3, gigad G, Afsr10ad H @ TE above rules are applied.
23 AT 1 A § wmie ey (1 inthe case of a lady employee, if she ha
AT a1 ST Y G 3R PF &) e b b S S i S
Tt oA g | LG e el e bl
! service before
a1 d G firerdt & 41 PF e 8 | applying the above rules, as a special
4, SagH Jar g lﬁﬁ I @EiTF-ﬁ?l =77 consideration.
1 ST Y PF firer 3, 9T G 76; APlﬁl}’ the above rules to the cases described in
e TE oTaf 3 e gw’ﬁth‘r 3 = 33;: hof the following questions and decide
S G e 2 3 2t PF e | . ?)tr ﬁ;tthe employee is eligible for G and/or
a. PO Y AT PR TIFE A0S pOWEATIF ASNANTIA TSP SN PATTATRTFL SONPNTIN NI SO PRSI NS P A PRSI TV 00 7t UK
l 3 F 2 PR PV TV S PRI TR SN T e
' DH-1
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110.

111.

G
been ¢
Ccompany for five ye

Uy 4

mployed py

ars, durlng WhiCh

|
(D) Al G 3ir pF o
Mr. Ashok was t
after ten years,

(A) ifonly G can be given.

(B) ifonly PF can be given,

(C) ifeither G or PF can be given.

(D) ifboth G and PF can Ibe given,
aﬁnﬁaﬁﬁmﬁwaﬁﬁﬂmm
A1 3R g 2 foy | E

(A) 3 Fae G A a2 | -
(B) e %ae PF fear smweran 2 | -
(©) 3R G = PF ¥ ¥ 9 @ fem

qHAT R | -

Resewig,

erminated from service

(D) uﬁGﬁPFﬁf&qu%

¥ Mo < & PN POUIN TSV
. VA PO eI T P AL P oy T,
I O PR DN PIILA TV PO P PTLaT
PN P BT

DH-1

Mrs. Verma served the
years and resigned. .
(A) ifonly G can be given.

(B) if only PF can be given. .

(C) ifeither G or PF can be given,

company for four

112,

(D) ifboth G and PF can be given,

113,

Y P

T A FH F foye w9
Wmaﬁﬁw:ﬂrr@(?«iﬁwa;

Wmﬁﬁﬂwiﬁm,ﬁﬂ%ﬁmﬂ
Wﬁaﬁa;mmﬂr

(A) ﬂﬁ%ﬂaGa’rmmar

(B) qﬁ#ﬂﬁPFfﬁ'ﬂ]mmar

© a&qﬁf(}?ﬂ‘mﬂﬂﬁﬁiaﬁtqﬁw
WWW%]

D) 3R G =1 pF 3 |
HHar g |
Akshay worked for

Seven years and even
to a prolonged illne

T H Ry

W T R o

the company for
tually resigned due
ss that lasted three
he was on an unpaid

if only G can be given,

if only PF can be given,

if neither G nor PF can be given.
if either G or PF can be given,

PN ST % Sl 3 i o oy |
' ) 58 T % .3/2 99 ¥ A, wr

mmmﬁﬁlemﬁam,a%
feamy |

(A) “ﬁWGam'ﬂTﬁﬁﬁl

(B) e %t PF foar s w2

(C) E&GmpFﬁ%aﬁi@ﬁmm
THAOR|

(D) ?lﬁGaﬁtPF‘qﬁiﬁqWM§|

Mrs. Deval worked at the company for
" three years. However, during 3/? years of
that time, she was on unpaid leave,
Eventually, she was terminated from the
job.
(A)
(B)

. o
if only G can be given. 3

if only PF can be given. _
(C) ifeither G or PF can be gl_ven.
(D) if both G and PF can be given.

i S PN TR
PETEC TH A 0 VT TV AN P SITTA TR
NP STLNTE PR SRS P

R
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114.

115.

(A) Ignore the ca
the minor.

(B) Caution the minor’s " parents and
file statutory charges.

(C) Arrest the accused based on caller
ID fraces. LI )

(D) Advise parents to counsel their
daughter. -

31q T g e % # 4 &;

" Hrerer ifean e @, e =T SeerEd
P T IHA Tl et Y A
i Tl T & | 3T
(a) T S dife 9 % fore
. T ) AR 1 T |

(B) Fem Ffea F gag & feg
TR el WL T =1RT |

(C) 3 Hai & Jrerd e &
ST AT =T | .

(D) o391 g & S99 Y ek ok foTg At
! T BT =T | | .

OB TV PO PETTA TFP s SO

&) geg &A1 e |

You are stationed as a police officer; a
woman reports phone harassment of her
minor daughter’s intimate photos. As per

law, you should : o
se attributing fault to

You are stationed as a police officer;

social media monitoring reveals plans for

unauthorized political rally violating

prohibitory orders. You should:

(A) Arrest organizers for subversive
social media posts.

(B) Engage organizers to explain order
restrictions.

(C) Request temporary suspension of

internet services.

(D) Deploy forces to firmly deny entry

points.

116.

117.
" STt ST ewTse ST i TEEH

m-yau AE # WA wa F oE A,
Hisrenfres TgyTa A0, T % fem, HTTEN
(A) @i ITafEl # dora Hifzm
STzt @ Frr e =nfE |

mﬁ%m%maﬁzﬁm
mmmﬁa’fmm|

S =fET |
As station head in a riot-prone area, t0
uphold communal harmony, you should :
(A) Monitor social media profile of
potential troublemakers. :
(B) Make preventive arrests to avoid
breach of peace attempts.
(C) Impose prohibition orders on
dangerous weapons’ possession.
(D) Arrange talk for inter-faith

confidence building measures.

7w R T % w3 A

aﬂﬁ%fﬁq,m:
(A) &1 & @it qrfEel ht AT

Y Gt & P weh =R |

FrEe Ui BT T TH % fag
| e SRt S 1 gehgl AT <IITeT |
(C) e ) Foge e =T M forn
T gRe & fashar 9% @@l W
fergeryor eT =1ET |
(D) wft FfRRq ST AT Gieed
| afit ¥ R wfEy e 9teg |
You are stationed as a police officer; to
identify fake e-commerce website
scammers, you should : '
(A) Monitor online purchases of all
citizens in the region.

Assemble ethical hacker teams to
trace site registrations.

(B)

(B)

(C) Hire hackers and analyze vendor
bank accounts without search
warrants.

(D) Ban all unauthorized online
shopping portals and apps.

ST ST PSS TS Vel SO BT ol 6 P P Tl
it d IO ¥ NN I G A AR TR A U PO A TRV AU BOWE ST e
L
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Ll

e

lzl_uﬁu%maﬁmuﬁwwﬂﬁmfﬂ

<122,

)

Sarp I TS

©

Stw a7TaehT shaarefl et mifi
wﬁmg?ﬁ’tw%ﬁm%%qm

AR F S weh Ry |
(B) TRETE F9T4 g H1d g wfreg

SEHTI T TR |
(C) wIETR Srerfierar F fra et 9
(D) mtﬁﬁ l

Nl U A9 F g

A national security priority manhunt
enters climax when your Spouse meets a

serious accident requiring surge
should : " Bieny Yo

(A) Delay informing famity to avoid
distraction. ' :

(B) Take brief leave deputing
operational coordination.

(C) Handover full charge to deputy for
family priority. o '

(D) Strategically allocate expertise
areas among wider team.

w qhre st % = 3, e R

g gifde gon eyt i fal
Wﬁ% | m L
(A) wguelt SaTies aggl W atiaems
B) 3T wre- BT 3T
( T <] FI9T T IR | |
THE W IR 6 w2 THE W ol
%ﬁﬁﬂﬁrﬁ?mmmﬁ
| | .
I HIRED Jaq13T B! M FQ g
JTqu-oTfiies WA 98 B e
T et | '
As a police officer, minorities in your
district report experiencing religious hate

crimes. You should:
(A) Online profile surveillance on

radical ideological groups.
Fast-track prosecutions announcing
exemplary sentences.

Implement district cyber patrolling
to mass report hate posts,

Organize inter-faith peace initiatives
involving community leaders.

(B)
©
(D)

! S F R |

124

123, wh i sl % ey

|
srfiremiiett % flaems wfien i

(©)
(D)

As a police officer, you notice workplace

sexual harassment complaints from

women  constables  against senior

officers. You should :

(A) Setup internal complaints
committee promising action.

(B) Implement mass gender sensitivity
training modules.

(C) Enforce transfers of implicated

- personnel from command roles.

(D) Refer cases to external agencies

ensuring confidentiality.

. T e e ¥ w9 4, #§ Al

(A) T e arel A fivad hwR w6 |

(B) eIl ! 99 & T ¥ fore 7
T |

(C) I HETAT shY GRETT ik |

(D) A W I uififs T oW

- IR | ,
As a police officer, I can best
demonstrate patriotism by :
(A) Accepting bribes from law
breakers.
(B) Using force to subdue protesters.
(C) Safeguarding democratic

institutions.
Imposing my religious values on

(D) Im
citizens.

APFTESTEER FOAVIUT ATV A5 BT AT P SN PO I P2 M0 PO T Ve oI PP TE S TP AR PO IO O BRI TICVA SO P SETA TP SN oW T e
Eahi DH-1
3
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133.

A = “LINGUIST™

. Shubhg is‘

Prema’s daughter. How is Rahul related

to Shubha ¢

(A) Brother

(B) Cousin

© Maternal Uncle
(D) Can’tbe determined -

® e, FR st
B3 e W i AT - sjem %
mmmmmmﬁm
ﬁmmaﬁtﬁ&aﬁxmﬁmﬁﬁm
*TET % STFHR 3% o w1z 1y
Hﬁffﬁ?ﬁaﬁmmma’tmiﬁam%
M IRt arem 3 9 fray stem

(aﬁvﬁaﬂmwn[@m%m)%?

If first, third and sixth letters of the word

“LINGUIST” are changed to

English alphabet series and fourth and
seventh letters are changed to their

immediately succeeding letters as per -

English alphabet series, then how many
letters are there between the third and
fifth letter of the newly formed word
(according to English alphabet series) ?
(A) 6 B) 7

(C) 8 D) 9 -

their-
~ immediately preceding letters as per

135,

. the question given

136.

180°

Bt ety = FE M AR fag o
/I IWE

Study the following figure ang answer

below :

How many backwarg
educated 2

A) 5
(€ 22

people are not
B) 17
D) 12

Frerfefi # & = o srivw g

@%aﬂﬁéﬁuaﬁma?a‘}a@
27

Which of the following diagrams best
indicates the relation between Sea, Earth,

Sun ?
O

w6 w &
(©) @O (D)

M’
gutar

. NS PR ATE VR
i . iy OV T Y A PSS T YN 6
P PRI TET P O PN TV A R P PUT ATV A S0 PO TN S0
. OF X RO BTN T T PO P
" SETLN T F A (PO PO T
PON PEVEN TN S0 ¢
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139.

- om side), 4 equal cubes of side 1 em

younger than R. R is Yoﬁg"e" i .
then who among them s Youngest ?
(A) G (B) K
© R D) A

sétﬁxlﬁ:ﬁmwmﬁatﬁam'mmﬁ

ﬁW%lGWx4ﬁﬁmaﬁiﬁm -
R H g | =l F (6 el s oy
R F) 1 aﬂ}gmanﬁﬁmmﬁ,
(4 50 g 61 3 B) 1| &t e a4
S T # forfor fapar e 8 | :

W ot o & el 9 e o 8 i
S w8 |

A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and | cm height,
Two faces measuring 4 cm x 1 cm are
coloured in black. Two faces measuring
6 em x 1 cm are coloured in red. Two
faces measuring 6 cm x 4 cm are
coloured in green. The block is divided
.into 6 equal cubes of side 1 cm (from 6

(from 4 cm side)..

How many cubes will have green colour
on two sides and rest of the sides having

no colour ? | _
(A) 4 (B). 8
© 10- D) 12

mwwmm\‘wmwmah'pmwm CEN PO TE R L s o FEN PO T Pl o0

20

. I TR 652 T
3. s IF T q
4.  vigal % ifon o
RIS R |
¥, 7 ot W foem i mu, =1t
B RO ERTE
'ﬁmﬁwﬁa%ﬁlatrﬁ; -

- A health-conscious individual s

- 1. The phone number starts

T1s

PR 9878

remember the hotline numt

recently ‘established
consultation service. He Ct
following points:

2. - The phone number ends with |
3. The fourth digit is either 2, 4'0
~and not repeated in the digit of
numbers, :
4. The fifth digit is the product of the
 last digit and the fourth digit.
Now, considering these conditions, the

individual has narrowed down four
potential phone numbers for the nutrition
consultation service. Find the suitable
one, s
(A) 98762652
(C) - 98724652

(B) 98748652
(D) . 98764652

PP OS P SR P A T ey B ﬂﬂ'a‘ﬂﬁpmht@'l’ifm'ﬂt‘w [

ol n )
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A9 e & s o 3 ad @g 1301
mﬁmaﬁw&ﬁqwﬁlmwﬁ
& 8 it i wr wew w2, R A
ﬁwﬂm@mﬁaﬂm%ﬁ'{w
am%ﬁ;aﬁﬂaﬂwm/ﬁwﬁ?ﬂﬂ%
qﬂﬁrﬁﬁaﬁﬁéﬁﬁﬁmmﬁ

aqgamaﬂm/ﬂ'afgl

S ; ETeTehR e U8 IHfigER T 949
¢ gaT & s g T @ =ifed
sy & SR A @ e R R |

iﬁ&ammﬁqﬁﬁﬁﬂﬂsﬁaﬁmﬁﬁ

B '
F oo ¥ Tme A
TR g ) $o HEd E |
St Frend [ 3HET FE |
St s 11 e T € |
(©) 13 IISHI FTET HWE |
(D) FAISRAR FTEO AT E |
In the question below a statement followed
by two conclusions numbered I and 1I is
given. You have to assume everything in
the statement to be true, then consider the
two conclusions together and decide which
of them Ilogically follows beyond a
reasonable doubt from the information
given in the statement. :
Statement : The interview panel may
select a candidate who neither
possesses the desired qualifications
nor the values and attributes.
Conclusions :
I.  The inclusion of specialists on the

interview panel does not guarantee
that the selection will be proper.

142.

IL.

(A)
(B)

II. The interview test has certain
limitations in the matter of
selection of candidates.

(A) Only conclusion I follows.

(B) Only conclusion 11 follows,

(C) Both Land Il follow.

(D)

Neither I nor Il follows.

AANPIVENTIFR 773

143.

144.

145.

v ‘Imﬁ
o A wrh BT ey 5 R =m

A\

Choose the altcr-nauw:_ which i lovsy
resembles the mirror image of the giyen

combination.

FIXING

(A) GNIXIF (B) OMUIXIF
© 1xmo (D) DUIXIT
wmﬁ%mﬁl(;{)ﬁmmgﬁ%

(1), (2), (3) 3K (4) & A 1 A SE

TS 1 gehd @ |

Find out which of the figures (D, (2), 3)
and (4) can be formed from the pieces

given in figure (X).

nN D
4y ||

Al

X) n @ 6 @
A (1) B) (2
© 6 D) @
e Rt 3 & war e R el e

figer o1 W et W A e fewrd
<& |

Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is
folded at the dotted line.

> |
(X) m @ @ @
A) ) (B) (2
(©) (3) (D) ()
ki Ml e
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146. XIARY W& IR, Yy Ra1? | T, S i

C(A) W@

147.

THAT ST 2 3RS, X HIAMIR | T, R A
oo TR Hafa @ 7

(B) ueft

(C) w& (D) i

X and Y are brothers. R is the father of
Y. T is only sister of S and S is maternal
uncle of X. How is T related to R ?

(A) Mother — (B) Wife

(C) Sister (D) Brother
et 3 & 3 a1 R 13 R e
YIeg} 1 Tl g 7 ,

L. R 2w

3. S - 4. fEER

5. == : |

- Which of the follo“dng option would be

meaningful order of the following words ?

1.  Infant 2. 0ud .
3. Adult - 4. Adolescent
5. Child S,

(A)-'5, 43721 % (By '374>3¥1 5

SN NTN e g
DH-l P%W‘ﬂtm-%‘

5 ATEVR AN ATV
¥ P B A TP 101 PRI NTETR OO POV ST SO PULN OB P A\ UL T AN LTI YN AN PINES o

22

(©F17574]8,2%" @) 13;3,455] 1

5 ﬁl‘a"ﬁ@ﬁrgéﬁi’ramﬁfﬁ—‘—rél

Choose the figure which is different
from the rest. .

ST LB) T () (5)
=i ® @
= ® @

2 | 39 9§ G ¥ WANH F R ey
M wret w1 ww@m e o 7

There are 8 members in a friends group

~ who greet each other on the Deepawalj

150.

day by sending cards. How many
greeting cards will be used for this

purpose by this group ?

(A) 50

(B) 56

(0N

(D) 64 I8
@m5aﬁ,'4éﬁﬁaﬂ12m%
- #fte % 12,900 &far | AR w38 9
S 32 ) 5 S & o T o
foveren &, 1 5% 381 9 e frern 7

" A’ man divides ¥ 12,900 among 5 sons,

" 4 daughters and 2 nephews. If each

~ daughter receives four times as much as

each nephew, and each son receives five

‘times as much as each nephew, how

much does each daughter receive ?
(A) 900

(B) 1100

(C) T1200

(D) %1500
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(A) (B) M

(€) (D) I

frferfd & @ # o1 wieg aeem @ 7

(A) T (B) #w

©) (D) Hin
frefafes 3 @ el 7 & wfrmg
e fmea §8 7 =

(A) gﬁa?m

(B) , HQTieht

(C) =, e

(D) s, I5E™

frfeiea o @ form T & forg Ry
0 e devery
A) 3 e -
(B) N 9STIATE - AT
(C) &R EATE - BHER -
(D) 3fEH 37 7 -
aq e gs-gm Fefe sk
%1 3fera e 2 |

40.

41.
42.

43.

44.

I ;
(A) . SIRea 3 w3 vy fe@m |
i (C) | I TS W
B i N
(D) ¥R H &g W TEA AT |
45. T 1 @ foim i 2f & o a1 feew Tom

77 |

(A) @_ﬁ (B) sfwn- sfam

(©) §mu- (D) =g - gfem

Y T, FHT T 1 BT 7

(A) aYY (B) =y

C) = (D) =y

47. °1 Y 9= A frargat & 1 iy wreg A
I AT HH & 7
(A) IFUCHSNH (B) =Y FRH
(C) s (D) HIREHFRF -

CANPELN CITR PO DL TI Pl AN DOCE RN T
'

46.

51,

52,

54.

55.

7

48.

49,

50,

83,

(A) ﬁﬁmﬁa'm) v fg

© *whE 0w

TARER W1 3 8 w1 R & 7
(A) TEIEES s

(B) wTEI i

(C) TvraTess fashyor
(D) e fagor

= 4 & wols fvn &1 sgew 31 @
27 |

(A) WufTIendaae |
(B) T A fein &g |
(C) TWBAWR |

(D) T @A

TR I T TP AR PITEA TV AN PO AT

"X B P TP PO P T P CTN POWENTETA

DH-1
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84,

85S.

86.

87.

K O HOWIT S TPV PR PO om T vl £ 10 VA -
Lis T ¥
RN PEULN T Ve P PEILN TFFal S $P T T P

U TR ) 3 i &
© WTYRY

[(A) 66

23 MR e I 7, i
wﬁﬁqt@maﬁm? |mgﬁm” ?fl_:

B

Yy selling 33 metres of ¢loth :
the selling price £ » Ole gaing
Egi)n narcegnt‘.J O 11 metres, Fin the

0% (B) 25% (C) 509 (D) 65%

SUI Was put at gim le interlest
\ . at a
certain rate for 3 years. Had it b

1 ;
< 4;20 %60?1(; rlglltga it woulld have fetcheqd
- ,000 B) 7,000
C ;Z,soo ED; % 8,000
P, Q 3R R & 7 20,000 &1 Y e
O T I ey ¥ | SN Faepy
X 5,000 framer | @ 3 2 4,000 frret afiy

R 3% 6,000 3 Stfeifeert e o | ¢ 3
e

&4 3 34,950
Wﬁm% S v mar | p |

|

A Q_and R started g business each
Investing T 20,000. After 5 months, P
Wwithdrew ¥ 5,000, Q withdrew T 4,000
and R invested Z 6,000 more, At the end

of the year, a total profit of 7 34,950 was
recorded. Find the share of P, . -

(A) 10,600  (B) 710250 |
(©) 14,100 (D) %10,800 .
11 gfom =7 sfigs T
RO w7 e 51 R ik iy BE H
HI\a 59 R, < w1 Thom 3| = | '
The average of 11 results is 50. If the
average of first six results is 51 and that of
the last six is 59, then find the sixth result.
(B)86 (C) 110 (D) 107
T 3R qER A3 B
T 1 ! HET: 9 3R 12 Tt 3 o o
o § | W & yRy s i 3 s-
Topa fet & qu & e ¢

-Diptesh and Tushar working separately

can do a piece of work in 9 and 12 days
respectivc?ly. If they work for a day
alternately, Diptesh beginning, in hoxl':
many days, the work will be completed *
(A) 10 (B)41/4(C) 11 (D) 43/4

DH-1

50 3 | a2 et wE

T g |

10

89,

90.

91.

Find the 14t
14’ 10’ 6! 25 "

term of the Sequence
(4) =34 (B)

38 (©)-4 (D) - 46

P g o STHT I8 erd
Lic

%?ohﬁga_ﬁm;ﬁm L2468

?
Wm%ﬁm 333.18 7, 0 zemy

The base of triangular field ig three timeg
its altitude. If the cost of Cultivating the
field at ¥ 24.68 per 100 m2 be ¥ 333,13
find its base, ’
(A) 30 m (B) 60 m(C) 90 m (D) 119 m

e wg 20%1:&/%#1%%@@1%,%3%
500 12 1 6t 7 e 3 e oz ey -

How many minutes does Vandan take to
cover a distance of 500 m, if he runs at 5
speed of 20 kmv/hr 9

A1 B)125(C) 1.5 (D) 175

¥ 4.918095; Ferfafaa Yt o 200
@rzoon?raaaﬁ:%ammn%mﬁm
ST 61 AE R 39 S F i
AT 1 AT ST 2

Q. Nos. 91 to 95 : The following line
graph gives the ratio of the amount of
imports by a company to the amount of

exports from that company over the
period from 2001 to 2007 -

iU RS P pe——
fRata 6w srgam

Ratio of amount of Imports to Exports by a
i Company over the Years

1.6

.l

1.5

03
T~

2001 2002 2003 2004 2005 2006 2007
Tt/ Year

Tore o & Sheft & Frrf % oo f s
e o 7

The imports were minimum
proportiona’ueh to the exports of the
company in the year

P 4 (B) 2003

(A) 2002
(C) 2004 (RIRE00SE-
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92, feu T =t % R Rpa st 4§ frarfa s @
aferes o1 7 | S E‘fmfﬂ'ﬁ e ) gta R,
In how many of the given years were the ® zufn } 3t qw wm
exports more than the imports 7 R, @ 39 3 s £ 1o
A1l B2 ©3 4 ?:ﬁmmﬁ?
¥ 9 n the given figure, if Triang t
93, dfg 2002 he b AR T 260 s Doctor, Square rcprcsenlsgfam:’ﬂz
ﬂT,?ﬁ2002 Hu 1 gt o t(i:l"'Clc rcri)rcscnls Literate, then ‘what is
If the imports of the company in 2002 e number of those Doctors and
were T 260 crores, the exports from the Lawyers who are Literate ?
company in 2002 were
A) X 360 S / ¥ 360 crores 3
(B) T325 FUS / T 325 crores VAR
(©) 2310 %US / T 310 crores
(D) X275 FUg / T 275 crores (A)3 (B)5 ©6 (D)8
' e TTATd | fohem wfowra it i
94. 2003 ﬁ?2004 98. M+ o R, + Fr e,
FEE | . _ 1 7Y e R 3R F i e R, @
What was the percentage Increase in ’
imports from 2003 to 2004 ? 18+6+7x5-2= 79
(A) 56 If *+* stands for division, ‘+’ stands for
(B) 67 multiplication, ‘x’ stands for subtraction
(C) 82 _ and ‘-’ stands for addition, then
(D) éam%matainadequate 18+6+7x5-2=19
95, af 2004 ¥ AT T 240 Hg, I T (A) 16 (B)18 (C)20 (D) 22
0004 31T 2005 & faereR B fEfa T 500 | -
S o1, d 2005 T ST or 7 99. = fohedi # A & 7 gl (X) # =
(A) T200F$ (B) 250 sy |
Y% ) T420Fs (D) X 450 FUS - Choose the correct mirror image of the
:  If the imports in 2004 were T 240 crores given figure (X) from amongst the four
" and the total exports in tl%e Sy(;egrs 2004 alternatives.
and 2005 together were crores, _
then the imports in 2005 were “ II U_l ‘—U II
(A) %.200 crores (B) . ¥ 250 crores @ @) Ol@ V|0
"y (C) ‘T 420 crores (D) T 450 crores (X} (1) (2) (3) (4)
96. =E é‘—rﬁazt;ﬂ o W & ;r@aﬁ & e (A) (1) B)(2 (©) @) @) @
ety 1 T 0 oo, e s 6, e o g
; A . 35 a1g = w1 e e &, fr | o fen
Choose the Venn diagram which best
. Ly enn e Mo T IeE % & hT1 ITINT HH TE T
explains relationship among given items : SR R A |
Animals, Vegetables, Potatoes \ Er&' o Tﬂ?f. .
O In the following question, one word 1;
given, followed by four words, one o
(A) (B) O O which cannot be formed using the letters
' ; . of the given word. Find that word.
| @ RECOMMENDATION
(©) D) (A) MEDICINE (B) MEDIATE
e R ) MONITOR (D) COMMON
. il lI W\!hm-.w\l&'..w‘m\sr»\u,--;.-.:'.‘-;mx«w.«m.n\.nwxDmH-i
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R I T 9 R e R |
D) nm:;@mﬁs‘l P IEER WA 7Y
: mm%aﬁﬁaﬁmmaﬁq

" You are an Investigating Officer; a

celebrated spiritual leader 1S

in a sexual abuse scandal and requests

quashing - of legal complaints  filed

of“fen'n% blessings and fundg for good

causes backed by you, Yoy should :

A) Partially “assist the leader in
limiting trial damage.

(B) Commt to impartially investigating
as per procedure. D

(€)  Promise inaction legally but aig

implicated

secretly in access to victim,
- (D)

119,

A PRI (T

DH-1

Personally  conduct prosecution
violating standard norms, '

Wm%mﬁﬁaﬁm
9, 3

f?ﬂqmaa@rdglmmaﬁm
(9 %ﬁm;gf e smfermrivas
) A e e et i
mmmaé&mmmm%m

When investigating online radicalization
cases, you should :

Ct as undercover agent postin

inflammatory posts to attract
Tesponses.
(B) Obtain  court approval  for

psychometric analytics to be run on
such subjects, ‘

(C) Share concernin unverified
' snig ets on official channels for
ublic vigilance.

(D) Use specialized forensic counsellor
insights for pattern analysis,

PIN PRI TP AN PRty L= T

m‘\?@"(ﬂfx\'ﬂf\um‘&fVS DN POULN SV o\“W&NT\"Vﬂ AR

5
-
:
1
=
£

|
3
;

(B) it sfwds = wher Ha

FT aIRY |

(C) ifct uftard= =t wehem e =TT 3k
ST I 59618 § 9 0 sk
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You are an inspector in a crime branch
unit that deals with organized crimes and
gangs. You have been working in this
unit for the past three years. However,

due to a policy change, you are
trasisferred to a women'’s cell

have to deal with cases

women’s safety and empowerment. You

feel that this is 2 less challenging and
rewarding work. You should: -

(A) Challenge the policy change and
argue ‘that your skills and
€Xperience are better suited for the
crime branch unit,

(B)  Accept the policy change and use
your skills and experience to deal
Wwith the cases in the women’s cell,

where you
related to

(€) Accept the policy change and try to

maintain  your  contacts and

involvement in the crime branch unit,
(D)  Accept the policy change and lf;ok

for ways to get back to the crime
branch unit as soon as possible.
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er, you afedreqliired to
70 petiodic training and evaluation

" d:;]Ean%?your ‘skills and knowledge,

Which of the following is the name of

the institution that provides training tg :

the Indian Police Service Officers 2 ~

(A) National Police Academy

(B) National Defence Academy

(C) National Security Guard Academy

(D) National Forensic Science Academy

126. T GRS w0 3, S v
B, et e

As a police offic

ﬁg n«';l POltl)ce officer, you get a panic call
robbe a Mmanager about an armed
han d«'g;l I progress with hostages. As per
thiese oh Operating procedures, which of
& should be your immediate response ?

) Rush to the crime scono directly
Without back-up |
Inform and coordinate with other
€mergency services

(B)

(©) Set-up perimeter checkpoints to
1solate the area |
(D) Use social media to gather public

129,
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In certain code “CR RCH
‘ “SX[FSX”, how would

KNOV

C) VGKNVO
131. T =afdy I fewn §

ST 3R e @
m

gedl & 3 4 ferdt
i TR Rufy @ T
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(C) 13 Tt (D) 16 ft

A person moves in north direction by
7 km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns {eft and moves by 4 km. How
far the person is from initial position ?
(A) 2km (B) 1lkm

- information

(C) 13km (D) 16km
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